
1

;w-ds-ih-lh-,l izkjafHkd ijh{kk&2021 
lkekU; cqf¼eÙkk ijh{kk (f}rh; iz'u i=k)

UKPCS Prelims-2021
General Aptitute test
(Qustions Paper-II)



2

	 1.	 nhid ,d oLrq dks ₹555 esa cspdj 11» dk ykHk 
dekrk gSA ;fn og ml oLrq dks ₹455 esa csps rks mls 
fdruk ykHk vFkok gkfu gksxh\

	 (a)	 1» ykHk	 (b)	 2» gkfu

	 (c)	 6» gkfu	 (d)	 9» gkfu

	 2.	 jksfgr fdlh dk;Z dks t ?kaVksa esa iwjk dj ldrk gSA fdlh 
dkj.ko'k] 1½ ?kaVs ckn mlus dk;Z djuk cUn dj fn;kA 
dk;Z dk v/wjk fgLlk gS%

	 (a)	
2
3
t

	 (b)	
(2 3)t

t
−

	 (c)	
( 3)

2
t

t
−

	 (d)	
(2 3)

2
t

t
−

	 3.	 yqIr inksa dks çkIr djsa%

		 A, Z, X, B, V, T, C, R, __, __
	 (a)	 P, D	 (b)	 E, O
	 (c)	 Q, E	 (d)	 O, Q

	 4.	 ;fn ^Q* dk vFkZ ^$*] ^J* dk vFkZ ^x*] ^T* dk vFkZ 
^&* ] vkSj ^K* dk vFkZ ^÷* gks] rc 30K2Q3J6T5 
dk eku gS%

	 (a)	 18	 (b)	 28

	 (c)	 31	 (d)	 103

	 5.	 ;fn p dksbZ la[;k bl çdkj gS fd 0 < p < 1] rks 
fuEufyf•r esa dkSu lk lgh gS\

	 (a)	 P < 
1
p

	 (b)	 p3 > p2

	 (c)	 P < p 	 (d)	 P > 1
P

	 6.	 vkt o#.k dk tUefnu gSA ,d o"kZ ckn] og viuh 
12 o"kZ igys dh vk;q dk nqxuk gks tk;sxkA mldh 
orZeku vk;q D;k gS\

	 (a)	 20 o"kZ	 (b)	22 o"kZ

	 (c)	 25 o"kZ	 (d)	27 o"kZ

	 7.	 lqfer ds nknk dk HkkbZ] gseUr ds firk dk firk gSA 
lqfer] gseUr ls dSls lacaf/r gS\

	 (a)	 HkkbZ	 (b)	ppsjk HkkbZ

	 (c)	 firk	 (d)	pkpk

	 8.	 60 Nk=kksa dks viuk ilanhnk •sy pquus ds fy, dgk 
x;kA pqus x;s fodYi fuEu çdkj ls gSa %

		 iQqVckWy – 15] fØdsV – 12] rSjkdh – 12] ckLdsV 
ckWy – 11] •sydwn – 10

		 vk¡dM+ksa dks ikbZ&pkVZ esa çnf'kZr djuk gSA iQqVckWy ds 
fy, fdruk dks.k gksxk\

	 (a)	 15°	 (b)	 60°

	 (c)	 90°	 (d)	 180°

	 1.	 Deepak sells an item for ̀ 555 and receives a profit 
of 11%. What will be his profit or loss in case he 
sells the item for `455?

	 (a)	 Profit of 1%	 (b)	 Loss of 2%
	 (c)	 Loss of 6%	 (d)	 Loss of 9%
	 2.	 Rohit can complete a work in t hours. Due to some 

reason, he stopped working after 1½ hours. 
Unfinished part of the work is:

	 (a)	
2
3
t

	 (b)	
(2 3)t

t
−

	 (c)	
( 3)

2
t

t
−

	 (d)	
(2 3)

2
t

t
−

	 3.	 Find the missing terms : A, Z, X, B, V, T, C, R,___ 
____,

	 (a)	 P, D	 (b)	 E, O
	 (c)	 Q, E	 (d)	 O, Q
	 4.	 If ‘Q’ means ‘+’, ‘J’ means ‘×’, ‘T’ means ‘–’, and 

‘K’ means ‘÷’, then the value of 30K2Q3J6T5 is :
	 (a)	 18	 (b)	 28
	 (c)	 31	 (d)	 103
	 5.	 If p is a number such that 0 < p < 1, then which of 

the following is true?

	 (a)	 P < 1
P

	 (b)	 p3 > p2

	 (c)	 P < P 	 (d)	 P > 
1
P

	 6.	 Today is Varun’s birthday. After one year, he will 
be twice as old as he was 12 years ago. What is the 
present age of Varun?

	 (a)	 20 years	 (b)	 22 years
	 (c)	 25 years	 (d)	 27 years
	 7.	 Sumit’s grandfather’s brother is the father of 

Hemant’s father. How is Sumit related to Hemant?
	 (a)	 Brother
	 (b)	 Cousin
	 (c)	 Father
	 (d)	 Uncle
	 8.	 60 Students were asked to choose their favourite 

sport. Following are the options chosen:
		  Football – 15, Cricket – 12, Swimming – 12, 

Basketball – 11, Athletics – 10.
		  The data is to be illustrated in a pie-chart. What 

angle should be used for football?
	 (a)	 15°
	 (b)	 60°
	 (c)	 90°
	 (d)	 180°
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	 9.	 ,d cDls esa ₹180 dks ₹ 1 ds flDds] 50 iSls ds 
flDds rFkk 25 iSls ds flDds ds :i esa tek fd;s x, 
gSaA cDls esa flDdksa dk vuqikr 2 % 3 % 4 gSA 50 iSls 
ds flDdksa dh la[;k gS%

	 (a)	 60	 (b)	 120

	 (c)	 150	 (d)	 180

	 10.	 o"kZ 1979 esa] fØlel fnol eaxyokj dks euk;k x;k 
FkkA fuEufyf•r fdl o"kZ] ;g iqu% mlh fnu euk;k 
x;k\

	 (a)	 1990	 (b)	 1986

	 (c)	 1985	 (d)	 1984

	 11.	 ;fn ,d fHkUu ds va'k rFkk gj nksuksa ls 5 ?kVk;k tk, 

rks fHkUu dk eku gks tkrk gSA ;fn va'k rFkk gj  

nksuksa esa 
1
2
 tksM+k tk,] rks fHkUu dk eku 

2
3
 gks tkrk 

gSA fHkUu gS %

	 (a)	
14
19

	 (b)	
5
9

	 (c)	
15
17

	 (d)	
12
19

	12.	;fn ,d fuf'pr dwV Hkk"kk esa] ^GRASP* dks ^BM-
VNK* fy•k tkrk gS] rks 'kCn ^CRANE* dks fy•k 
tk;sxk %

	 (a)	 XMVIZ	 (b)	 XMVIA
	 (c)	 FUDQH	 (d)	 HWFSJ

	13-	;fn ̂ fdrkc* dks ̂ ?kM+h*] ̂ ?kM+h* dks ̂ cLrk*] ̂ cLrs* dks 
^'kCndks'k* rFkk ^'kCndks'k* dks ^f•M+dh* dgkA tkrk 
gS] rks fdrkc mBkus esa fdldk mi;ksx gksrk gS\

	 (a)	 f•M+dh	 (b)	?kM+h

	 (c)	 'kCndks'k	 (d)	cLrk

	14-	;fn ^&* dk rkRi;Z ^÷*] ^$* dk rkRi;Z ^×*] ^÷* dk 
rkRi;Z ^&* rFkk ^×* dk rkRi;Z ^$* gS] rks 52 ÷ 4 $ 
5 × 8 – 2 dk eku gksxk%

	 (a)	 624	 (b)	 24

	 (c)	 36	 (d)	 51

	 15.	 ,d lkbfdy lokj mÙkj fn'kk esa 30 fdeh pyrk gS] 
fiQj iwoZ fn'kk esa eqM+dj 40 fdeh tkrk gS] iqu% vius 
nkfguh vksj eqM+dj 20 fdeh] pyrk gSA rRi'pkr~ vius 
nkfguh vksj eqM+dj 40 fdeh tkrk gSA og vius çkjfE-
Hkd fcUnq ls fdruh nwj gS\

	 (a)	 25 fdeh

	 (b)	 40 fdeh

	 (c)	 20 fdeh

	 (d)	 10 fdeh

	 9.	 `180 is stored in a box in the form of 1 rupee coins, 
50 paise coins and 25 paise coins. The ratio of the 
coins in the box is 2 : 3 : 4. The number of 50 paise 
coins is :

	 (a)	 60	 (b)	 120
	 (c)	 150	 (d)	 180
	 10.	 In the year 1979, Christmas day was celebrated on 

Tuesday. In which of the following years, it was 
celebrated on the same day?

	 (a)	 1990	 (b)	 1986
	 (c)	 1985	 (d)	 1984
	 11.	 If 5 is subtracted from both, the numerator and the 

denominator of a fraction, the value of a the 

fraction becomes 1
2

. If 2 is added to both, the 

numerator and the denominator, the value of the 

fraction becomes 2
3

. The fraction is :

	 (a)	
14
19

	 (b)	
5
9

	 (c)	
15
17

	 (d)	
12
19

	 12.	 If, in a certain code language, ‘GRASP’ is written 
as ‘BMVNK’, then the word ‘CRANE’ will be 
written as :

	 (a)	 XMVIZ	 (b)	 XMVIA
	 (c)	 FUDQH	 (d)	 HWFSJ
	 13.	 If ‘book’ is called ‘watch’, ‘watch’ is called ‘bag’, 

‘bag’ is called ‘dictionary’ and ‘dictionary’ is called 
‘window’, which is used to carry books?

	 (a)	 Window	 (b)	 Watch
	 (c)	 Dictionary	 (d)	 Bag
	 14.	 If ‘–’ means ‘÷’, ‘+’ means ‘×’, ‘÷’ means ‘–’ and 

‘×’ means ‘+’, then the value of 52 ÷ 4 + 5 × 8 – 2 
will be:

	 (a)	 624	 (b)	 24
	 (c)	 36	 (d)	 51
	 15.	 A cyclist goes 30 km to the North and then turning 

to the East he goes 40 km. Again, he turns to his 
right and goes 20 km. After this he turns to his right 
and goes 40 km. How far is he from his starting 
point?

	 (a)	 25 km
	 (b)	 40 km
	 (c)	 20 km
	 (d)	 10 km
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	16-	33 Nk=kksa dh d{kk esa] 20 Nk=k fØdsV •syrs gSa] 25 
iQqVckWy rFkk 18 okyhckWy •syrs gSa_ 15 fØdsV ,oa 
iQqVckWy nksuksa •syrs gSa] 12 iQqVckWy rFkk okyhckWy •syrs 
gSa] 10 fØdsV ,oa okyhckWy •syrs gSaA ;fn çR;sd Nk=k 
de ls de ,d •sy vo'; •syrk gS] rks rhuksa •sy 
•syus okys Nk=kksa dh la[;k gS&

	 (a)	 2	 (b)	 4

	 (c)	 7	 (d)	 8

	17-	eksgu ,d O;fDr dh rjiQ b'kkjk djds ,d L=kh ls 
dgrk gS] ¶mldh ek¡] rqEgkjs firk dh ,dek=k iq=kh 
gSA¸ og L=kh] ml O;fDr ls fdl çdkj lEcfU/r gS\

	 (a)	 cgu	 (b)	iq=kh

	 (c)	 ek¡	 (d)	iRuh

	 18.	 ;fn 246 * 2 ¾ 6] 870 * 3 ¾ 11] rks 735 * 5 dk 
eku gS%

	 (a)	 16	 (b)	 3

	 (c)	 5	 (d)	 12

	 19.	 lR;rk vkSj vlR;rk xq.k gSa%
	 (a)	 dFku ds	 (b)	rdZ&fordZ ds

	 (c)	 okn&fookn ds	 (d)	/kj.kk ds

	 20.	 fo"ke dks pqfu,%
	 (a)	 pUæek – xzg

	 (b)	 vkdk'k – rkjs

	 (c)	 LVsfM;e – f•ykM+h

	 (d)	 fo'ofo|ky; – fo|kFkhZ

	 21.	 foyqIr in Kkr dhft,%
		  2Z5, 7Y7, 14X9, 23W11, 34V13, ___
	 (a)	 27U24	 (b)	 47U15
	 (c)	 45U15	 (d)	 47V14

	 22.	 dkSu&lk] lewg ls lacaf/r ugha gS\
	 (a)	 122	 (b)	 326

	 (c)	 224	 (d)	 337

	 23.	 ^x* dk U;wure eku Kkr dhft, ftlls fd la[;k 
^97468x4*] 8 ls foHkkT; gksA

	 (a)	 2	 (b)	 3

	 (c)	 4	 (d)	 5

	 24.	 ;fn la[;k A ¾ 81 × 117 × 63 × 46, 3b ls foHkkT; 
gS] rks b dk vf/dre eku gS%

	 (a)	 6	 (b)	 7

	 (c)	 8	 (d)	 9

	 25.	 tc fdlh la[;k dks 7 ls foHkkftr fd;k tkrk gS rks 
'ks"kiQy 3 çkIr gksrk gSA 11 vkSj 100 ds chp vkus 
okyh bl çdkj dh dqy laHkkfor la[;k,¡ Kkr dhft,A

	 (a)	 14	 (b)	 12

	 (c)	 15	 (d)	 18

	 16.	 In a class of 33 students, 20 play cricket, 25 play 
football, and 18 play volleyball; 15 play both 
cricket and football, 12 play football and volleyball, 
and 10 play cricket and volleyball. If each student 
plays at least one game, then the number of 
students who play all three games is:

	 (a)	 2	 (b)	 4
	 (c)	 7	 (d)	 8
	 17.	 Pointing towards a person, Mohan said to a woman, 

“his mother is the only daughter of your father”. 
How is the woman related to that person?

	 (a)	 Sister	 (b)	 Daughter
	 (c)	 Mother	 (d)	 Wife
	 18.	 If 246 * 2 = 6, 870 * 3 = 11, then the value of 735 

* 5 is 
	 (a)	 16	 (b)	 3
	 (c)	 5	 (d)	 12
	 19.	 Truth and falsity are attributes of :
	 (a)	 Propositions	 (b)	 Arguments
	 (c)	 Debates	 (d)	 Opinions
	 20.	 Find the odd one out :
	 (a)	 Moon – Planets
	 (b)	 Sky – Stars
	 (c)	 Stadium – Players
	 (d)	 University – Students
	 21.	 Find out the missing term : 2Z5, 7Y7, 14X9, 

23W11, 34V13, _ _ _
	 (a)	 27U24	 (b)	 47U15
	 (c)	 45U15	 (d)	 47V14
	 22.	 Which one does not belong to the group?
	 (a)	 122	 (b)	 326
	 (c)	 224	 (d)	 337
	 23.	 Find the least value of ‘x’ so that the number 

‘97468x4’ is divisible by 8.
	 (a)	 2	 (b)	 3
	 (c)	 4	 (d)	 5
	 24.	 If the number A = 81 × 117 × 63 × 46 is divisible 

by 3b, then the maximum value of b is :
	 (a)	 6	 (b)	 7
	 (c)	 8	 (d)	 9
	 25.	 When a number is divisible by 7, it gives 3 as 

remainder. Find the total possible numbers of such 
type lying between 11 and 100.

	 (a)	 14	 (b)	 12
	 (c)	 15	 (d)	 18
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	 26.	 fuEufyf•r nks iafDr;ksa dh la[;k  Ük̀a•yk dks gy dhft, 
vkSj la[;k d dk eku Kkr dhft,%

		 3] 4] 9] 26] 69
		  5, 6, a, b, c, d
	 (a)	 91	 (b)	 95
	 (c)	 157	 (d)	 160
	 27.	 ;fn CBA $ CCA ¾ ACD] tgk¡ A] B] C vkSj D 

fofHkUu vad gksa vkSj D ¾ 0 gks] rks A dk eku gS %
	 (a)	 0	 (b)	 4
	 (c)	 5	 (d)	 9
	 28.	 vki ,d HkrhZ çca/d ds :i esa] ,d esgurh uo;qod 

e;ad] ftldks /kjkçokg vaxzsth cksyus esa leL;k gS] 
dk lk{kkRdkj ys jgs gSaA ;fn vkidh dEiuh esa fjDr 
in gSa] rks vki fuEufyf•r fodYiksa esa ls fdldk 
pquko djsaxs\

	 (a)	 eSa mls gj dher ij dke ij j[k¡xkA

	 (b)	 eSa mls mRiknu ;k foÙk dh ukSdjh ij j•w¡xk] 
ysfdu foi.ku dh ukSdjh ds fy, ugha] ftlds 
fy, vPNs laokn dkS'ky dh vko';drk gksrh 
gSA

	 (c)	 eSa mls mldk laokn dkS'ky lq/kjus vkSj iqu% 
okil vkus ds fy, dgw¡xkA

	 (d)	 eSa mls dke ij ugha j•wxkA

	 29.	 nh xbZ nks la[;kvksa esa ls çR;sd NksVh la[;k dk vk/k 
?kVk;k x;kA ifj.kkeh la[;kvksa esa ;fn cM+h la[;k NksVh 
la[;k ls rhu xquk cM+h gks] rks nks la[;kvksa dk vuqikr 
D;k gS\

	 (a)	 2 : 1	 (b)	 3 : 1
	 (c)	 3 : 2	 (d)	 mijksDr esa ls dksbZ ugha

	 30.	 uhps ,d dFku vkSj mlds ckn nks iwoZ vo/kj.kk,¡ I 
vkSj II nh xbZ gSaA fu.kZ; dhft, fd dkSu lh iwoZ 
vo/kj.kk@vo/kj.kk;sa dFku esa varfuZfgr gS (gSa)A

		 dFku%
		 fo|ky; vkus okys fo|kfFkZ;ksa dh la[;k esa c<+ksrjh ds 

fy, çkFkfed fo|ky;ksa esa cPpksa dks eè;kÉ Hkkstu 
çnku djsaA

		 iwoZ vo/kj.kk;sa%
	 I.	 eè;kÉ Hkkstu ls cPps fo|ky; dh vksj vkdf"kZr 

gksaxsA

	 II.	 vPNs Hkkstu ls oafpr cPps bu fo|ky;ksa esa 
vk;saxsA

	 (a)	 dsoy I varfuZfgr gSA

	 (b)	 dsoy II varfuZfgr gSA

	 (c)	 I ,oa II nksuksa varfuZfgr gSaA

	 (d)	 I ,oa II nksuksa gh varfuZfgr ugha gSaA

	 26.	 Solve the following two lines number series and 
find the value of number d:

		  3, 4, 9, 26, 69
		  5, 6, a, b, c, d
	 (a)	 91	 (b)	 95
	 (c)	 157	 (d)	 160
	 27.	 If CBA + CCA = ACD, where A, B, C and D stand 

for distinct digits and D = 0, then the value of A 
is:

	 (a)	 0	 (b)	 4
	 (c)	 5	 (d)	 9
	 28.	 You as a recruitment manager, are interviewing 

Mayank, a hardworking young man, who has 
problem in speaking fluent English. Among the 
following options, what would you choose to do, 
if your company has vacancies?

	 (a)	 I would hire him at all costs.
	 (b)	 I would hire him for production or finance 

job but not for marketing job, which requires 
good communication skill.

	 (c)	 I  would  ask  h im to  improve  h i s 
communication skill and come back again.

	 (d)	 I would not hire him.
	 29.	 From each of the two given numbers, half of the 

smaller number is subtracted. Of the resulting 
numbers, if the larger one is three times large as 
the smaller one, what is the ratio of two numbers?

	 (a)	 2:1
	 (b)	 3:1
	 (c)	 3:2
	 (d)	 None of the above
	 30.	 Below is given a statement followed by two 

assumptions I & II. Decide which of the following 
assumptions is/are implicit in the statement.

		  Statement : Provide mid-day meals to the children 
in primary schools to increase the number of 
students attending school.

		  Assumptions :
	 I.	 Mid-day meals will attract the children to 

school.
	 II.	 Those children who are otherwise deprived 

of good food will attend the schools.
	 (a)	 Only I is implicit.
	 (b)	 Only II is implicit.
	 (c)	 Both I & II are implicit.
	 (d)	 Neither I nor II are implicit.
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	 31.	 fuEufyf•r rkfydk] fdlh eghus esa fofHkUu enksa esa 
gksus okys vkSlr ekfld ?kjsyw •pZ dks n'kkZrh gS%

en [kpZ (` esa)

Hkkstu

fdjk;k

f'k{kk

vU;

4500

1800

650

2400

		 ;fn vk¡dM+ksa dks çfr'kr n.M fp=k }kjk n'kkZ;k tk,] 
rks n.M esa fdjk;s dk Hkkx gksxk%

	 (a)	 48-13»	 (b)	6-95»

	 (c)	 19-25»	 (d)	25-67»

	 32.	 pkj mÙkj vkÑfr;ksa esa ls og ,d pqfu, tks fuEufyf•r 
vkÑfr;ksa dk Øe tkjh j•s%

	 (a)	 	 (b)	

	 (c)	 	 (d)	

	 33.	 fuEufyf•r tkudkjh ds vk/kj ij crk;sa fd fdruh 
yM+fd;k¡ yEch gSa\

cPps
dn

dqy
vkSlr NksVk yEck

yM+ds & & 20 &

yM+fd;k¡ & & & 64

dqy & 60 & &

	� vk/s cPps ;k rks yEcs gSa ;k NksVs gSaA

	� pkyhl çfr'kr cPps yM+fd;k¡ gSaA

	� ,d frgkbZ yM+ds vkSlr dn ds gSaA

	 (a)	 0	 (b)	 10	 (c)	20

	 (d)	 Kkr ugha fd;k tk ldrk

	 34.	 uhps fn, x, n.M vkys• ds vk/kj ij crkb;s fd 
1960 ls 1990 rd fp=kiV fFk,Vjksa dh la[;k esa fdrus 
çfr'kr dh o`f¼ gqbZ\

1960

30,000 30,000

25,000
26,000

20,000
15,000

15,000

10,000 6,000
5,000 2,500

1970 1980 1990 2000

fF
k,
Vj
ksa 
d
h 
la
[;

k

o"kZ

	 31.	 The following table shows the average monthly 
house-hold expenditure on different items for a 
month:

Items Expenditure (in `)
Food
Rent

Education
Others

4500
1800
650
2400

		  To represent the data by percentage bar diagram, 
the portion for rent in the bar would be :

	 (a)	 48.13%	 (b)	 6.95%
	 (c)	 19.25%	 (d)	 25.67%
	 32.	 From the four answer figures, choose the one which 

will continue the following figures:

	 (a)	 	 (b)	

	 (c)	 	 (d)	

	 33.	 On the basis of the following information, tell how 
many girls are tall?

Children
Height

Total
Medium Short Tall

Boys – – 20 –
Girls – – – 64
Total – 60 – –

	� half the children are either tall or short.
	� forty percent of the children are girls.
	� one third of the boys are of medium height.

	 (a)	 0
	 (b)	 10
	 (c)	 20
	 (d)	 cannot be determined
	 34.	 On the basis of following bar-diagram, tell, what 

is the percentage increase in the number of movie 
theatres from 1960 to 1990?

1960

30,000 30,000

25,000
26,000

20,000
15,000

15,000

10,000 6,000
5,000 2,500

1970 1980 1990 2000

N
um

be
r o

f T
he

at
re

Years
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	 (a)	 12»	 (b)	120»

	 (c)	 940»	 (d)	1300»

	 35.	 fuEufyf•r n.M vkys• fdlh o"kZ dh eqEcbZ vkSj 

fnYyh dh tula[;k (gtkj esa) n'kkZrk gSA dks"Bd ds 

vad tula[;k esa iq#"kksa dk çfr'kr n'kkZrs gSaA

eqEcbZ

(55)
12]500 (54)

8]400

fnYyh

		  ;fn eqEcbZ esa 90» iq#"k lk{kj gksa vkSj fnYyh esa 80» 

efgyk;sa lk{kj gksa] rks eqEcbZ esa fuj{kj iq#"kksa dh la[;k 

vkSj fnYyh esa fuj{kj efgykvksa dh la[;k dk fudVre 

vuqikr gksxk%
	 (a)	 0.89	 (b)	 0.32

	 (c)	 1.73	 (d)	 0.61

	 36.	 uhps n'kkZ;s x;s ç'uokpd fpÉ (\) ds LFkku ij D;k 

vk;sxk \

		  LOM : NMK :: PKI : ?
	 (a)	 RIH	 (b)	 SHG

	 (c)	 RIG	 (d)	 RHG

	 37.	 vaxzsth o.kZekyk esa nk;sa ls bDdhlosa v{kj vkSj ck;sa ls 

lksygosa v{kj ds chp esa dkSu lk v{kj gS\
	 (a)	 J	 (b)	 K

	 (c)	 L	 (d)	 O

	 38.	 'kCn ^IMPERISHABLE* esa v{kjksa ds ,sls fdrus 

tksM+s gSa ftuesa ,d tksM+s ds nks v{kjksa ds chp mrus gh 

v{kj gSa ftrus fd o.kZekyk esa vkSj mlh Øe esa gSa\
	 (a)	 0	 (b)	 1

	 (c)	 2	 (d)	 3

	 39.	 ,d dwV Hkk"kk esa] fuEufyf•r la[;kvksa dks uhps fn;s 

x;s çrhdksa ds lkFk dwfVr fd;k x;k gSa%

la[;k 1 2 3 4 5 6 7 8 9

izrhd% @ # $ % ^ & * ~ +

		 dwV Hkk"kk esa ^&%$* vkSj ^+ ^ #* dk ;ksx gS%

	 (a)	 ^ + ^ @	 (b)	 @ ^ + ^

	 (c)	 & @ * $	 (d)	 ~ ^ % #

	 40.	 o"kZ 1988 esa Lora=krk fnol cq/okj dks euk;k x;k FkkA 

o"kZ 1989 esa ;g fdl fnu euk;k x;k Fkk\

	 (a)	 lkseokj	 (b)	 eaxyokj

	 (c)	 c`gLifrokj	 (d)	 'kqØokj

	 (a)	 12%	 (b)	 120%
	 (c)	 940%	 (d)	 1300%
	 35.	 The following Bar diagram shows the population 

of Mumbai and Delhi (in thousands) in a certain 
year. Number within brackets denote % of males 
in the given population.

Mumbai

(55)
12]500 (54)

8]400

Delhi
		  If 90% of males in Mumbai are literate and if 80% 

of females in Delhi are literate, then ratio of 
number of illiterate males in Mumbai to number 
of illiterate females in Delhi is close to:

	 (a)	 0.89	 (b)	 0.32
	 (c)	 1.73	 (d)	 0.61
	 36.	 What will appear in place of question mark (?) 

shown below ? LOM : NMK :: PKI : ?
	 (a)	 RIH	 (b)	 SHG
	 (c)	 RIG	 (d)	 RHG
	 37.	 Which letter is midway between the 21st letter from 

the right and the 16th letter from the left in the 
English alphabet?

	 (a)	 J	 (b)	 K
	 (c)	 L	 (d)	 O
	 38.	 How many pairs of letters does the word 

‘IMPERISHABLE’ contain such that the two 
letters of a pair have as many letters between them 
in the word as in the alphabet and in the same 
order?

	 (a)	 0	 (b)	 1
	 (c)	 2	 (d)	 3
	 39.	 In a code language, the following numbers are 

coded with the symbols given below:
Numbers: 1 2 3 4 5 6 7 8 9
Symbols: @ # $ % ^ & * ~ +

		  Then the sum of ‘& % $’ and ‘+ ^ #’ in the code 
language is :

	 (a)	 ^ + ^ @	 (b)	 @ ^ + ^
	 (c)	 & @ * $	 (d)	 ~ ^ % #
	 40.	 The independence day was celebrated on 

Wednesday in the year 1988. On which day it was 
celebrated in the year 1989?

	 (a)	 Monday	 (b)	 Tuesday
	 (c)	 Thursday	 (d)	 Friday
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	 41.	 ;fn fdlh fuf'pr dwV esa ^BAKE* dks 5796 fy•rs 
gSa rFkk ^FIRE* dks 3146 fy•rs gSa] rks mlh dwV esa 
^FEAR* dks fdl çdkj fy•saxs\

	 (a)	 3564	 (b)	 3574

	 (c)	 3649	 (d)	 3674
	 42.	

F
13%

E
25%

A
20%

B
12%

D
22%

C
8%

		  ;fn Nk=kksa dh dqy la[;k 3000 gks] rks Hkkx A rFkk 
Hkkx B esa feykdj Nk=kksa dh la[;k gS%

	 (a)	 840	 (b)	 960

	 (c)	 720	 (d)	 880

	 43.	 ;fn 256 dh dwV Hkk"kk ^you are good* gS] 637 dh 
dwV Hkk"kk ^we are bad* gS] rFkk 358 dh dwV Hkk"kk 
^good and bad* gS] rks ^and* dh dwV Hkk"kk gS%

	 (a)	 6	 (b)	 2

	 (c)	 8	 (d)	 7
	 44.	

? 67

16

22 3

5

1

4

		 yqIr la[;k Kkr dhft, %
	 (a)	 8	 (b)	 9
	 (c)	 10	 (d)	 13

	 45.	 uhps nh gqbZ fHkUuksa dks ?kVrs gq, Øe esa O;ofLFkr 
dhft,%

		
2 4 3 1, , ,
3 5 8 2

	 (a)	 4 2 1 3, , ,
5 3 2 8

	 (b)	 2 4 3 1, , ,
3 5 8 2

	 (c)	
4 1 3 2, , ,
5 2 8 3

	 (d)	
4 3 2 1, , ,
5 8 3 2

	 41.	 In a certain code ‘BAKE’ is written as 5796 and 
‘FIRE’ is written as 3146. How is ‘FEAR’ written 
in that code?

	 (a)	 3564	 (b)	 3574
	 (c)	 3649	 (d)	 3674
	 42.	

F
13%

E
25%

A
20%

B
12%

D
22%

C
8%

		  If the total number of students is 3000, then the 
number of students in section A and B together is:

	 (a)	 840
	 (b)	 960
	 (c)	 720
	 (d)	 880
	 43.	 If 256 is coded as ‘you are good’, 637 is coded as 

‘we are bad’ and 358 is coded as ‘good and bad’, 
then the code of ‘and’ is:

	 (a)	 6	 (b)	 2
	 (c)	 8	 (d)	 7
	 44.	 Find out the missing number :

		

? 67

16

22 3

5

1

4

	 (a)	 8	 (b)	 9
	 (c)	 10	 (d)	 13
	 45.	 Arrange the following fractions in descending 

order:

		

2 4 3 1, , ,
3 5 8 2

	 (a)	
4 2 1 3, , ,
5 3 2 8

	 (b)	
2 4 3 1, , ,
3 5 8 2

	 (c)	
4 1 3 2, , ,
5 2 8 3

	 (d)	
4 3 2 1, , ,
5 8 3 2
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	 46.	 fuEufyf•r esa yqIr v{kj gS %

B G L
C H M
G L ?

	 (a)	 R	 (b)	 O

	 (c)	 P	 (d)	 Q

	 47.	 nks xksyksa] ftudh f=kT;k;sa 1 % 2 ds vuqikr esa gSa] ds 
vk;ru dk vuqikr gS%

	 (a)	 1 % 2	 (b)	1 % 8

	 (c)	 1 % 4	 (d)	2 % 7

	 48.	 fuEufyf•r pkj 'kCnksa esa ls rhu fdlh ,d çdkj ls 
leku gSa rFkk ,d lewg cukrs gSaA dkSu lk ,d] ml 
lewg dk lnL; ugha gS\

	 (a)	 fgju	 (b)	?kksM+k

	 (c)	 xhnM+	 (d)	ftjkiQ

	 49.	 uhps fn, x, ,d ?ku dh fofHkUu fLFkfr;ksa dk vè;;u 
dhft, vkSj crkb, fd 4 ds foijhr iQyd ij dkSu&lh 
la[;k vk;sxh\

		

3 4

4

2

23

3 3

5

(i) (iii) (iv)(ii)

51 1

	 (a)	 3	 (b)	 5

	 (c)	 1	 (d)	 6

	 50.	 fuEufyf•r vk¡dM+sa rhu oxks± A] B rFkk C ds fy, 
fd, x;s çfrn'kZ loZs{k.k ds ifj.kke gSa%

A B C C A B A B C C A B C A C
A C A B C A B C C C C A C C C

		 bl çfrn'kZ esa oxZ B ls lEc¼ vo;oksa dk çfr'kr 
gS%

	 (a)	 30»	 (b)	20»

	 (c)	 50»	 (d)	 40»

	 51.	 uhps fn;s x;s fp=k esa oxks± dh la[;k fdruh gS\

	 (a)	 12	 (b)	17

	 (c)	 13	 (d)	buesa ls dksbZ ugha

	 46.	 The missing letter in the following is:
B G L
C H M
G L ?

	 (a)	 R	 (b)	 O
	 (c)	 P	 (d)	 Q
	 47.	 The ratio of volumes of two spheres, whose radii 

are in the ratio 1 : 2, is :
	 (a)	 1 : 2	 (b)	 1 : 8
	 (c)	 1 : 4	 (d)	 2 :7
	 48.	 Three of the following four words are alike in a 

certain way and form a group. Which one does not 
belong to this group?

	 (a)	 Dear	 (b)	 Horse
	 (c)	 Jackal	 (d)	 Giraffe
	 49.	 Study the different positions of a cube as given 

below. Which number will occur on the face 
opposite to 4?

3 4

4

2

23

3 3

5

(i) (iii) (iv)(ii)

51 1

	 (a)	 3	 (b)	 5
	 (c)	 1	 (d)	 6
	 50.	 The following data gives the results of a sample 

survey of three categories A, B and C :
A B C C A B A B C C A B C A C
A C A B C A B C C C C A C C C

		  The percentage of elements in this sample 
belonging to the category B is :

	 (a)	 30%	 (b)	 20%
	 (c)	 50%	 (d)	 40%
	 51.	 What is the number of squares in the following 

figure?

	 (a)	 12
	 (b)	 17
	 (c)	 13
	 (d)	 None of these
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	 52.	 ,d yM+dk o"kkZ ds ekSle esa Ldwy tkrs gq, ,d dne 
vkxs c<+krk gS] ij mls nks dne ihNs dh vksj ysus iM+rs 
gSaA og vius Ldwy dSls igqap ldrk gS\

	 (a)	 Nkrk ysdj

	 (b)	 lkbfdy }kjk

	 (c)	 ?kj dh vksj eq¡g djrs gq, pyus ij

	 (d)	 Ldwy dh vksj eq¡g djds pyus ij

	 53.	 uhps fn, x, pkj dFkuksa dks if<+, vkSj crkb, fd 
dkSu T;kfefr dk vè;;u ugha dj jgk gS%

	 (1)	 eksgu vkSj lksgu HkkSfrdh rFkk vaxzsth dk vè;;u 
dj jgs gSaA

	 (2)	 lksgu vkSj jksgu jlk;u foKku rFkk vaxzsth dk 
vè;;u dj jgs gSaA

	 (3)	 jks'ku vkSj eksgu T;kfefr rFkk HkkSfrdh dk vè;;u 
dj jgs gSaA

	 (4)	 jksgu vkSj jks'ku jlk;u foKku rFkk T;kfefr dk 
vè;;u dj jgs gSa

	 (a)	 eksgu	 (b)	 lksgu

	 (c)	 jksgu	 (d)	jks'ku

	 54.	 ;fn $ ^Hkkx*] – ^cjkcj gS*] × ^;ksx*] ^vf/d gS*] ¾ 
^de gS*] > ^xq.ku* rFkk < ^?kVkus* ds çrhd gksa] rks 
fuEufyf•r fodYiksa esa ls dkSu lk lgh gS\

	 (a)	 5 × 2 < 1 – 3 < 4 × 1

	 (b)	 5 > 2 × 1 – 3 > 4 < 1

	 (c)	 5 < 2 × 1 – 3 > 4 × 1

	 (d)	 5 ÷ 2 × 1 ¾ 3 $ 4 > 1

	 55.	 lkr yM+dksa ds ,d lewg esa jke] ';ke ls cM+k ysfdu 
euksgj ls NksVk gS] tks lcls cM+k ugha gSA ';ke] çse 
ls NksVk ugha gS] tks lcls NksVk ugha gSA eksgu] foosd 
lfgr pkj yM+dksa ls NksVk gS rFkk vU; yM+dksa ls cM+k 
gS] buesa ls 'ks"k ,d yM+ds fnus'k dh mez ds ckjs esa 
dksbZ lwpuk miyC/ ugha gSA bu lkr yM+dksa esa ls lcls 
cM+k dkSu gS\

	 (a)	 ';ke	 (b)	 jke

	 (c)	 fnus'k	 (d)	 foosd

	 56.	 ;fn ,d fo'ks"k Hkk"kk esa ̂ REMOTE* dks ̂ ROTEME* 
ls dwV fd;k tkrk gS] rks fdl 'kCn dks ^PNIICC* 

ls dwV fd;k tk;sxk\
	 (a)	 NPIICC
	 (b)	 PICCIN
	 (c)	 PICNIC

	 (d)	 PINCIC

	 52.	 A boy in rainy season while going to school takes 
one step forward but he has to take two steps 
backward. How can he reach the school?

	 (a)	 By using an umbrella
	 (b)	 By means of a cycle
	 (c)	 By facing home and walking
	 (d)	 By facing the school and walking
	 53.	 Read the following four statements and then 

answer who is not studying Geometry:
	 1.	 Mohan and Sohan are studying Physics and 

English.
	 2.	 Sohan and Rohan are studying Chemistry 

and English.
	 3.	 Roshan and Mohan are studying Geometry 

and Physics.
	 4.	 Rohan and Roshan are studying Chemistry 

and Geometry.
	 (a)	 Mohan	 (b)	 Sohan
	 (c)	 Rohan	 (d)	 Roshan
	 54.	 If + stands for ‘division’, – stands for ‘equal to’, 

× stands for ‘addition’, ÷ stands for ‘greater than’, 
= stands for ‘less than’, > stands for ‘multiplication’ 
and < stands for ‘subtraction’, then which of the 
following alternatives is correct ?

	 (a)	 5 × 2 < 1 – 3 < 4 × 1
	 (b)	 5 > 2 × 1 – 3 > 4 < 1
	 (c)	 5 < 2 × 1 ÷ 3 > 4 × 1
	 (d)	 5 ÷ 2 × 1 = 3 + 4 > 1
	 55.	 In a group of seven boys, Ram is elder than Shyam 

but younger than Manohar who is not the eldest 
boy. Shyam is not as young as Prem who is not the 
youngest. Mohan is younger than four boys 
including Vivek and elder than the other boys. No 
information is available about the age of remaining 
boy Dinesh. Who is the oldest boy among these 
seven boys?

	 (a)	 Shyam
	 (b)	 Ram
	 (c)	 Dinesh
	 (d)	 Vivek
	 56.	 If in a certain language ‘REMOTE’ is coded as 

‘ROTEME’, which word would be coded as 
‘PNIICC’ ?

	 (a)	 NPIICC
	 (b)	 PICCIN
	 (c)	 PICNIC
	 (d)	 PINCIC
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	 57.	 yqIr la[;k (\) Kkr djsaA

5 319 29

4

47 5
?

56

6

	 (a)	 25	 (b)	37

	 (c)	 41	 (d)	47

	 58.	 fdlh d{kk esa dqN csaps gSaA ;fn 4 Nk=k ,d csap ij 
cSBrs gSa rks 3 csapsa •kyh jg tkrh gSaA ysfdu ;fn 3 
Nk=k çR;sd csap ij cSBrs gSa rks 3 Nk=k •M+s jg tkrs 
gSaA d{kk esa Nk=kksa dh la[;k gS%

	 (a)	 36	 (b)	48

	 (c)	 52	 (d)	56

	 59.	 A o B fdlh dk;Z dks Øe'k% 15 o 10 fnuksa esa iwjk 
dj ldrs gSaA mUgksaus ,d lkFk dk;Z djuk çkjEHk fd;k] 
fdUrq 3 fnuksa ds ckn] A us dk;Z NksM+ fn;kA 'ks"k dk;Z 
dks B us iwjk fd;kA B us vdsys fdrus fnu dk;Z 
fd;k\

	 (a)	 8	 (b)	 5

	 (c)	 3	 (d)	 2

	 60.	 3 Vu çfr Vªd] çfrfnu ds fglkc ls 30 fnuksa esa fdrus 
Vªd 540 Vu lkeku <ks;saxs\

	 (a)	 6	 (b)	 5

	 (c)	 4	 (d)	 3

	 61.	 çFke X;kjg çkÑfrd la[;kvksa dk lekUrj ekè; gS%
	 (a)	 5	 (b)	 5.5

	 (c)	 8	 (d)	 6

	 62.	 ;fn 38 $ 15 ¾ 66 vkSj 29 $ 36 ¾ 99 gks] rks 82 
$ 44 ¾ \

	 (a)	 77	 (b)	 88

	 (c)	 80	 (d)	 94

	 63.	 fuEufyf•r 'kCnksa dk vaxzsth 'kCndks'k esa dkSu&lk Øe 
gS\

	 (i)	 Telegraph	 (ii)	 Telephone
	 (iii)	 Teleprinter	 (iv)	 Telemark

	 (v)	 Telepathy
	 (a)	 (i), (ii), (iii), (iv), (v)
	 (b)	 (v), (iv), (iii), (ii), (i)
	 (c)	 (i), (iv), (v), (ii), (iii)

	 (d)	 (ii), (iii), (iv), (v), (i)

	 64.	 36 lseh- ifjeki dh fdruh vk;rsa •haph tk ldrh 
gSa] ;fn Hkqtk,¡ /ukRed iw.kkZad lseh- esa gks\

	 (a)	 8	 (b)	 9

	 (c)	 10	 (d)	 11

	 57.	 Find the missing number (?).

5 319 29

4

47 5
?

56

6

	 (a)	 25	 (b)	 37
	 (c)	 41	 (d)	 47
	 58.	 There are some benches in a class room. If 4 

students sit on each bench, then 3 benches are left 
unoccupied. However, if 3 students sit on each 
bench, 3 students left standing. Number of students 
in the class is:

	 (a)	 36	 (b)	 48
	 (c)	 52	 (d)	 56
	 59.	 A and B can do some work in 15 days and 10 days, 

respectively. They began the work together but A, 
after working 3 days, leaves the work and B 
finishes the remaining work. For how many days 
B worked alone?

	 (a)	 8	 (b)	 5
	 (c)	 3	 (d)	 2
	 60.	 How many trucks will carry 540 tons in 30 days, 

if each truck carries 3 tons per day ?
	 (a)	 6	 (b)	 5
	 (c)	 4	 (d)	 3
	 61.	 The arithmetic mean of first eleven natural numbers 

is:
	 (a)	 5	 (b)	 5.5
	 (c)	 8	 (d)	 6
	 62.	 If 38 + 15 = 66 and 29 + 36 = 99, then 82 + 44 =?
	 (a)	 77	 (b)	 88
	 (c)	 80	 (d)	 94
	 63.	 Which of the following represents the sequence in 

which the following words occur in the English 
dictionary?

	 (i)	 Telegraph	 (ii)	 Telephone
	 (iii)	 Teleprinter	 (iv)	 Telemark
	 (v)	 Telepathy
	 (a)	 (i), (ii), (iii), (iv), (v)
	 (b)	 (v), (iv), (iii), (ii), (i)
	 (c)	 (i), (iv), (v), (ii), (iii)
	 (d)	 (ii), (iii), (iv), (v), (i)
	 64.	 How many rectangles of 36 cm perimeter can be 

drawn, given that sides are positive integers in cm?
	 (a)	 8	 (b)	 9
	 (c)	 10	 (d)	 11
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	 65.	 ,d vkneh nf{k.k dh rjiQ eq¡g djds •M+k gSA og igys 
135° ?kM+h dh foijhr fn'kk esa vkSj fiQj 180° ?kM+h dh 
fn'kk esa ?kwerk gSA vc mldk eq¡g fdl fn'kk esa gS\

	 (a)	 mÙkj&iwoZ	 (b)	mÙkj&if'pe
	 (c)	 nf{k.k&iwoZ	 (d)	nf{k.k&if'pe
	 66.	 ,d 6 lseh dksj okys ?ku ds lHkh iQydksa dks jax fn;k 

x;k gSA blds ckn bls 1 lseh dksj okys ?kuksa esa dkV 
fn;k x;k gSA fdrus ?ku ,sls gSa] ftuds dksbZ Hkh iQyd 
jaxs ugha gSa\

	 (a)	 8	 (b)	 64
	 (c)	 16	 (d)	 24
	 67.	 ,d dFku vkSj mlds nks fu"d"kZ I ,oa II fn, x;s gSaA 

fu.kZ; dhft, fd dkSu lk fu"d"kZ fn;s x;s dFku dk 
rkfdZd :i ls vuqlj.k djrk gS%

		 dFku % HkkX; cgknqj dk lkFk nsrk gSA
		 fu"d"kZ –
	 I.	 liQyrk ds fy, tksf•e t:jh gSA

	 II.	 dk;j ejus ls igys dbZ ckj ejrs gSaA

	 (a)	 dsoy I	 (b)	dsoy II
	 (c)	 I ,oa II nksuksa	 (d)	nksuksa esa ls dksbZ ugha

	 68.	 ;fn fdlh ns'k ds ctV dks fuEu çdkj ls n'kkZ;k tk;s%

vk;dj 33% 35%

14% 18%

fcØh dj

fofo/
mRikn ,oa 
lhek 'kqYd

		  rks ikbZ&vkys• esa vk;dj dk dks.k gksxk%
	 (a)	 118.8°	 (b)	 120°
	 (c)	 117.6°	 (d)	 126°
	 69.	 fuEufyf•r  Ük`a•yk esa yqIr la[;k Kkr dhft, %
		  1, 1, 3, 9, 6, 36, 10, 100, __, 225
	 (a)	 15	 (b)	 16
	 (c)	 20	 (d)	 25
	 70.	 uhps fn, x;s Nk;kafdr {ks=k ds fy, fuEufyf•r esa ls 

dkSu lk lgh gS\

(0, 0)

y = x

x + y = 4

	 (a)	 x ≥ 0, y ≤ x	 (b)	 x = 0, y ≥ x
	 (c)	 x ≥ 0, y ≥ x	 (d)	 x > 0, y > x

	 65.	 A man is facing South. He turns 135° in the anti-
clockwise direction and then 180° in the clockwise 
direction. Which direction is he facing now?

	 (a)	 North-East	 (b)	 North-West
	 (c)	 South-East	 (d)	 South-West
	 66.	 A cube of edge 6 cm is painted on all faces of it. 

It is then cut into cubes of edge 1 cm. How many 
cubes have no face painted?

	 (a)	 8	 (b)	 64
	 (c)	 16	 (d)	 24
	 67.	 A statement is given followed by two conclusions 

I & II. Decide which of the given conclusions 
follows logically from the given statement:

		  Statement : Fortune favours the brave.
		  Conclusions :
	 I.	 Risks are necessary for success.
	 II.	 Cowards die many times before their death.
	 (a)	 Only I	 (b)	 Only II
	 (c)	 Both I and II	 (d)	 Neither I nor II
	 68.	 If the budget of a country is presented as follows:

Income 
tax 33% 35%

14% 18%

Sales Tax

Miscellaneous
Excise and 

Custom duty
		  Then the angle for income tax on a pie-chart is:
	 (a)	 118.8°	 (b)	 120°
	 (c)	 117.6°	 (d)	 126°
	 69.	 Find the missing term in the following series :
		   1, 1, 3, 9, 6, 36, 10, 100,____, 225
	 (a)	 15	 (b)	 16
	 (c)	 20	 (d)	 25
	 70.	 For the shaded region, given below,

(0, 0)

y = x

x + y = 4

		  Which of the following is correct?
	 (a)	 x > 0, y < x	 (b)	 x = 0, y > x
	 (c)	 x > 0, y > x	 (d)	 x > 0, y > x
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	71.	 ;fn 
99x =
3x ] rks ñ dk eku gS%

	 (a)	
2
3
	 (b)	 3

2
	 (c)	 1	 (d)	 0
	 72.	 nks la[;k,¡ B o C] fdlh rhljh la[;k A ls Øe'k% 

15» rFkk 32» de gSaA la[;k B ls la[;k C fdrus 
çfr'kr de gS\

	 (a)	 23-5»	 (b)	22»
	 (c)	 20»	 (d)	18»
	 73.	 uhps nh xbZ ik¡p la[;kvksa esa ls pkj fdlh çdkj ls 

vuq:i gSa rFkk ,d lewg cukrh gSaA dkSu lh ,d] ml 
lewg esa ugha gS\

		 22] 26] 34] 46] 72
	 (a)	 22	 (b)	34
	 (c)	 72	 (d)	buesa ls dksbZ ugha

	 74.	 fuEufyf•r esa fdlls JN mlh çdkj lEcfU/r gS ftl 
çdkj AE] DH ls lEcfU/r gS\

	 (a)	 GK	 (b)	 PR
	 (c)	 OU	 (d)	 MQ

	 75.	

1
1 3
2(0.000064)

 
 
 

 dk eku gS %

	 (a)	 0-02	 (b)	0-2
	 (c)	 0-002	 (d)	buesa ls dksbZ ugha

	 76.	 fdlh ?ku dk vk;ru V gSA blds dksjksa dh dqy yEckbZ 
gS%

	 (a)	 8 V 	 (b)	 12 V

	 (c)	 8
1
3V 	 (d)	 12 

1
3V

	 77.	 ;fn (x + y + 2p + 3q) (x – y – 2p + 3q) ¾ (x 

– y + 2p – 3q) (x + y – 2p – 3q)] rks 
x
y

=\

	 (a)	
p
q 	 (b)	

q
p

	 (c)	
2q
3q 	 (d)	

3p
3q

	 78.	 fp=k esa Nk;kafdr {ks=k fu:fir djrk gS%
A B

C

	 (a)	 A È B È C	 (b)	 A È (B ∩ C)

	 (c)	 A ∩ (B ∩ C)	 (d)	 A ∩ (B È C)

	 71.	 If 
99x =
3x , then the value of x is:

	 (a)	
2
3

	 (b)	 3
2

	 (c)	 1	 (d)	 0
	 72.	 Two numbers B and C are respectively, 15% and 

32% less than a third number A. By what 
percentage is the number C less than the number 
B?

	 (a)	 23.5%	 (b)	 22%
	 (c)	 20%	 (d)	 18%
	 73.	 Four of the following five numbers are alike in a 

certain way and so form a group. Which one does 
not belong to that group?

		  22, 26, 34, 46, 72
	 (a)	 22	 (b)	 34
	 (c)	 72	 (d)	 None of these
	 74.	 JN is related to which of the following in the same 

way as AE is related to DH ?
	 (a)	 GK	 (b)	 PR
	 (c)	 OU	 (d)	 MQ

	 75.	 The value of 
1

1 3
2(0.000064)

 
 
 

 is:

	 (a)	 0.02	 (b)	 0.2
	 (c)	 0.002	 (d)	 None of these
	 76.	 The volume of a cube is V. The total length of its 

edges is :
	 (a)	 8 V 	 (b)	 12 V

	 (c)	 8
1
3V 	 (c)	 12

1
3V

	 77.	 If (x + y + 2p + 3q) (x – y – 2p + 3q) = (x – y + 2p 

– 3q) (x + y – 2p – 3q), then 
x
y

 = ?

	 (a)	
p
q 	 (b)	

q
p

	 (c)	
2p
3q 	 (d)	

3p
3q

	 78.	 In the figure,

		

A B

C

		  the shaded region represents :
	 (a)	 A  B  C	 (b)	 A  (B  C)
	 (c)	 A  (B  C)	 (d)	 A  (B  C)
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	 79.	 130 eh- vkSj 110 eh- yEch nks jsyxkfM+;k¡ ,d gh 
fn'kk esa tk jgh gSaA rsth ls tkus okyh jsyxkM+h nwljh 
jsyxkM+h dks 1 feuV esa ikj dj ysrh gSA ;fn os foijhr 
fn'kk esa tk,¡ rks ,d nwljs dks 3 lsdaM esa ikj djrh 
gSaA jsyxkfM+;ksa dh pkyksa dk vUrj gS%

	 (a)	 4 eh-@ls-	 (b)	3 eh-@ls-

	 (c)	 2 eh-@ls-	 (d)	1 eh-@ls-

	 80.	 10» okf"kZd pØo`f¼ C;kt dh nj ls fdrus o"kks± esa] 
₹1]000] ₹1]331 gks tk;sxk\

	 (a)	 2	 (b)	 2.5

	 (c)	 3	 (d)	 3.5

	 79.	 Two trains, 130 m and 110 m long are going in the 
same direction. Faster train takes 1 minute to pass 
the other completely. If they move in opposite 
direction, they pass each other in 3 seconds. 
Difference in the speeds of the trains is:

	 (a)	 4 m/sec	 (b)	 3 m/sec
	 (c)	 2 m/sec	 (d)	 1 m/sec
	 80.	 At the rate of 10% compound interest per  

annum, in how many years, ̀ 1,000 will become ̀  
1,331?

	 (a)	 2	 (b)	 2.5
	 (c)	 3	 (d)	 3.5

Passage for Comprehension:
Read the following passage carefully and answer 

the questions (from 81 to 83) given below : Self-directed 
learning, in its broadest meaning, describes a process in 
which individuals take the initiative with or without the 
help of others, in diagnosing their learning needs, 
formulation of learning goals, identifying resources for 
learning, choosing and implementing learning strategies 
and evaluating learning outcomes. Thus, it is important 
to attain new knowledge easily and skillfully for the rest 
of his or her life.

What is the need for self-directed learning ? One 
reason is that there is convincing evidence that people, 
who take the initiative in learning, learn more things and 
learn better than people waiting to be taught. The second 
reason is that self-directed learning is more in tune with 
our natural process of psychological development; an 
essential aspect of maturing is developing the ability to 
take increasing responsibility of our own lives to become 
increasingly self-directed. The third reason is that many 
of the new developments in education put a heavy 
responsibility on the learners to take a good deal of 
initiative in their own learning. To meet the challenge of 
today’s instructive environment, self-directed learning 
is most essential.
	 81.	 Which word best describes self-directed learning?
	 (a)	 Active learning
	 (b)	 Passive learning
	 (c)	 Compulsory learning
 	 (d)	 Repulsive learning
	 82.	 The modern environment, according to the author, 

is
	 (a)	 Restrictive 
	 (b)	 Instructive
	 (c)	 Less developed 
	 (d)	 Impracticable

	 83.	 There is a need for self-directed learning because
	 (a)	 It is less challenging.

	 (b)	 It helps people to learn more things and learn 
better.

	 (c)	 It is a more cost-effective method.

	 (d)	 It is less time - consuming.

	 84.	 Choose the correct word for the phrase : 
"Government by one person"

	 (a)	 Plutocracy 

	 (b)	 Oligarchy

	 (c)	 Autocracy 

	 (d)	 Theocracy

	 85.	 Choose the correct passive form of the given 
sentence from the choices given below : 'The 
Romans expected to conquer Carthrage'.

	 (a)	 Carthrage expected Romans to conquer.

	 (b)	 The Romans are conquered Carthrage.

	 (c)	 It was expected by the Romans that they 
would conquer Carthrage.

	 (d)	 It is expected to conquer Carthrage.

	 86.	 Choose the correct synonym of the word 
'Competition'. Btws

	 (a)	 Fight

	 (b)	 Contest

	 (c)	 Legal

	 (d)	 Competence

	 87.	 What can be an appropriate meaning of the word 
'Slumber'?

	 (a)	 Disease

	 (b)	 Action

	 (c)	 Sleep

	 (d)	 Deep
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ç'u la[;k 88 ls 100 rd fuEufyf•r x|ka'k ds vk/kj 
ij uhps iwNs x;s ç'uksa ds mÙkj nhft,%

vifBr x|ka'k

çR;sd jk"Vª dh viuh ,d lkaLÑfrd /jksgj gksrh gS] ftlds 
cy ij og çxfr ds iFk ij vxzlj gksrk jgrk gSA ekuo ;qx 
;qx esa vius thou dks vf/d lq•e;] mi;ksxh] 'kkfUre; vkSj 
vkuUniw.kZ cukus dk ç;kl djrk jgk gSA bl ç;kl dk vk/kj 
og lkaLÑfrd /jksgj gksrh gS] tks çR;sd çk.kh dks fojklr :i 
esa feyrh gS vkSj bl ç;kl ds iQyLo:i ekuo viuk fodkl 
djrk gSA dqN yksx lH;rk vkSj laLÑfr dks ,d gh ekurs gSaA 
;g mudh Hkwy gSA ;ksa rks laLÑfr vkSj lH;rk esa ?kfu"B lEcU/ 
gS] fdUrq laLÑfr ekuo thou dks Js"B ,oa mUur cukus dh 
lk/ukvksa dk uke gS] vkSj lH;rk mu lk/ukvksa ds iQyLo:i 
miyC/ gqbZ thou ç.kkyh dk uke gSA lH;rk ds vUrj esa cgus 
okyh fopkj/kjk dks ge laLÑfr dg ldrs gSaA laLÑfr vPNh 
;k cqjh gks ldrh gSA fdlh jk"Vª dh lH;rk dk ewY;kadu ge 
mldh laLÑfr ds vk/kj ij dj ldrs gSaA çR;sd jk"Vª dh 
laLÑfr ogk¡ dh HkkSxksfyd ifjfLFkfr;ksa ij fuHkZj gSA çÑfr dk 
ekuo thou dks çHkkfor djus esa cM+k egÙoiw.kZ gkFk jgrk gSA

	 88.	 fdlh jk"Vª dh lH;rk ds ewY;kadu dk vk/kj gS

	 (a)	 tula[;k

	 (b)	 çÑfr

	 (c)	 dyk

	 (d)	 laLÑfr

	 89.	 fduesa ?kfu"B laca/ gS\

	 (a)	 laLÑfr vkSj n'kZu esa

	 (b)	 lH;rk vkSj laLÑfr esa

	 (c)	 n'kZu vkSj dyk esa

	 (d)	 çÑfr vkSj thou esa

	 90.	 laLÑfr D;k gS\

	 (a)	 vkn'kZ thou ç.kkyh

	 (b)	 thou dks 'kkfUriw.kZ cukus dk ç;kl

	 (c)	 ekuo thou dks Js"B ,oa mUur cukus dh 
lk/ukvksa dk uke

	 (d)	 lq•e; ,oa mi;ksxh thou i¼fr

	 91.	 ekuo thou çHkkfor djus esa fdldk egÙoiw.kZ gkFk 
jgrk gS\

	 (a)	 laLÑfr dk	 (b)	 dyk dk

	 (c)	 çÑfr dk	 (d)	 lH;rk dk

	 92.	 ^lkaLÑfrd* 'kCn esa çR;; crkb,A
	 (a)	 frd	 (b)	bd

	 (c)	 le~	 (d)	lke~

	 93.	 ^fojklr* 'kCn fdl Js.kh dk gS\
	 (a)	 rRle	 (b)	 rn~Hko

	 (c)	 ns'kt	 (d)	 fons'kh

	 94.	 dkSu&lk 'kCn ^çxfr* dk i;kZ;okph ugha gS\
	 (a)	 mUufr	 (b)	vH;qn;

	 (c)	 mRFkku	 (d)	foHkwfr

	 95.	 ^ekuo* dk i;kZ;okph crkb,A
	 (a)	 veR;Z	 (b)	eR;Z

	 (c)	 vt	 (d)	ek/o

	 96.	 ^lH;rk* dk 'kCnkFkZ gS
	 (a)	 laLÑfr	 (b)	ukxfjdrk

	 (c)	 thou ç.kkyh	 (d)	thus dh dyk

	 97.	 ^ewY;kadu* dk lfU/&foPNsn dhft,A
	 (a)	 ewY;ka + du	 (b)	ewY;a + vdukuk

	 (c)	 ewy~ + ;adu	 (d)	ewY; + vadu

	 98.	 ^egÙoiw.kZ* dk foijhrkFkZ fyf•,A
	 (a)	 egÙojfgr	 (b)	egÙoghu

	 (c)	 vfregÙo	 (d)	i.kZegÙokdka{kh

	 99.	 mi;ZqDr x|ka'k dk mi;qDr 'kh"kZd gS
	 (a)	 lH;rk vkSj laLÑfr lkekU;

	 (b)	 çÑfr vkSj ekuo

	 (c)	 lkaLÑfrd /jksgj

	 (d)	 jk"Vª fuekZ.k

	100.	 dksbZ Hkh jk"Vª fdlds cy ij çxfr ds iFk ij vxzlj 
gksrk gS\

	 (a)	 çkÑfrd lEink	 (b)	HkkSxksfyd fLFkfr

	 (c)	 lkaLÑfrd /jksgj	 (d)	thou ç.kkyh ixkj


